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ESERCIZI sulle disequazioni irrazionali (clicca sulla freccia, se c’e, per la correzione)

1) V2x+8<x = 2) 3Wx<x+2 & 3) VX2-4+x<5 = 4) X2 —4x+3<x-2

5) /30— X < x 6)\/M<x = 7)ngx+3 = 8) /x-5<2x-1

9 2(\/;—X)<1—X = 10)@sx = 11) /x+12>x = 12) 2Jx+3>x =
13) V2-X>Xx = 14) JA+X > x-2 15) VXx2-2x-3>Xx =  16) v/2x2-3x+1>3-X
17) Vx> x/3 = 18) 6x—14 >1-x 19) Vx2+4>x-5 =

20) VAXZ+2X+1> x+1 = 21) x2—4x+3>x-1 = 22) /Bx—6 > x

23) JX+3 > x+1 20) xr22 Xt 2 25 fPox=xe2 26) VT—X>-5 =
2N NT-x>2 = 28) VX2—x—-12>3J2  29) /4x2—49 >0 30) 3V/x+2>-1

31) V2x-3<5 =&  32) JA-x<3 33) VX2 —6x <4 34) Vx2-4x+3<1 =
35) VXx-5<3 ®  36) /8B-x<0 ™ 37) Vx2-5<-9 38)\/?<2 =

2
39) —\/10 X <2 w0) X2-3 2 4 /%»% 2 42) SX—L<Jx+T D
43) x2+4 > 24/x 44) %\/X—1>VX—2 45) \/x2-3x+2 >+/x-1 46) J4-2x <J3-x =

47) ZMG/F = 48) 21 = 29) 85 o

50) X26_X16<1 2 51) JX—14+/X=3-/2X<0 D 52) VX35> 2-JXx—1 =
53) VX+1-/x+2 </x+3-/x+4 & 54) J7T-2x <4+ 55) V4X2 +3X < 2x+3
56) V3X—2 < x—4 57) VI+x <1-X 58) (+/x +10):3> X 59) VX2 +2x+3 > x+1
60) 24/2x2—3x+1>x—2 61) VX—2+X>4 62) V3-x <2

63) VX—2<2 64) VXZ—6x—7 >3 65) 3—/x2—1<0 66) 2>/x2_5

67) Ix3+6x2>x+2  68) Yx3-1<x-1 69) ¥x+4 <5 70) 3X+1>JA—2X
71) VX </x2-12 72) Vx+3-Jx=2>1 73 J6-x>4-Jx+4 74) J?»<—+3 2:(‘ <0 =
75)%20 = 76) \/__X>o = 77)\/% §+§ <0 =
78)—\')5%2_?3_)(>0E> )\/T:H&Zs 0 = 8)?(2;/;>0':>
81)%<0 = 82)%% = 83)*/—42<0 = 84)\/‘/552@ =
85) \/_*/_2>o = se)j_—+>o = 87) \/1+2X1_‘\/?;‘2_4X>0 =

gg) WX—VX2-12 6 o gg) [XoT . 5 o g [X=T .3 o o JX=T 3
X+5 X+5 X+5

121-x2

92) Ix3-7+1<x 93) ¥5x2+4x < X+2 94) I13x-12x2 > 2x-1 =



SOLUZIONI

1) x>4

4) x=3

7) x>-4/3

10) x>1

13) x<1

16) x<—_3_2\/H v OX> —_3+2m

19) sempre verificata, Vx e R
22) 2<x<3

25) x<-4/5

28) X<-5v x>6

31) 3/2<x<14

34) 2-2<x<1v 3<x<2+2
37) impossibile

40) x<lv x>14

43) x>0 ma x#2

46) 1<x<L2

49) x<-8v x>9/2

52) x>1

55) —1<x<-3/4 v x>0
58) 0<x<4

61) x=>3

64) x<—-2v x>8

67) x<-2/3

70) 3/5<x<2

73) -3<x<5

76) x> 2

79) 4<x<13
82) 1<x<3/2 v x>2

85) x>0
88) 2/3<x<6 v x>11

91) x<—% v X>7

92) -1<x<?2
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2) 0<x<lv x>14
5) 5<x<30

8) x>5

11) -12<x<4

14) —4<x<5

17) 0<x<9

20) x=0

23) -3<x<1

26) x<7

29) x<=712 v x>7/2
32) 5<x<4

35) 5<x<8

38) x<-1v x>3

41) —2<x<l

44) 2<x<23/7

47) x=-1v 1<x<13/9
50) -2<x<0 v x>8
53) x>-1

56) x>9

59) sempre verificata, Vx e R
62) —1<x<3

65) X <—+/10 v x >+/10
68) 0<x<1

71) x=4

74) 3/4<x<3 max=l

7 —%<x£—2 v X322

80) -3<x<-1v 2<x<3
83) 2<x<4

86) x>1

89) x<-5vx>7

93) x>-1

Una domenica
<« del 1°
e del
2° tipo >

Vuoi
essere
triste e

irrazionale
anche tu?

3) x<-2 v 2<x<29/10
6) x>5/2

9) x>0 ma x=1

12) 0<x<9

15) x<-1

18) x>7/3

21) x<1

24) —2<x<7

27) x<3

30) x>-2

33) 2<x<0v 6<x<8
36) impossibile

39) —26 < x<10

42) 1/3<x<4

45) x=1v x>3

48) -2 <x<0v1<x<+2

51) 3<x<2+/5

54) -1<x<7/2

57) -1<x<0

60) Xx<1/2 v x>1

63) 2<x<38

66) -3<x<-/5v/5<x<3
69) x<121

72) 2<x<6

75) 0<x<5v x>9

78) 2<x<6 v X>7

81) 4<x<13

84) impossibile

87) -1/4<x<1/8

90) -13/2<x<-5

04) x< 22, 242

<x<l




